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2. B & Fl n HHEJSZH £~ N(1,4),n~N(2,5), W £-2n~ N(—3,24)

3. % d=(21,2), b=(4,-1,10), ¢=b—Ad, H ale, W A= 3
4, CHIGENIZ & & HEABEM T ZER N EE=3,DE=2, | E&2 = 11

5. WHE k>0, B f(x)=Inx—<+k 1E (0,+00) NERINEH 2 .

6. MEH o = (1,1,0),a, = (0,1,1),a; = (1,0,1), NHFEE B = (4,53) BARN
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1. ZRAY f=4x2—2x%,+6x2 R MAFERESE T oo (A)
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2. {BI% F(x) BIESREL f(x) F—DREE, WF - (C)
(A) F(x) ZEMEE < f(x) 2 HERE
(B) F(x) RN < f(x) ZHRIHKE
(C) F(x) Z2BHRE < f(x) E7TEREL
(D) F(x) RAHE < f(x) 2IHEEK

3. fjcﬁu%fq: TER S R e (A)

([ fx)dx)=f(x) (B) d([ f(x)dx)=f(x)

C) [ f(x)dx = f(x) (D) [df(x)=

4. WER X FIREAR (X, -, X,) FOBEEIR N @A ERR - e (B)
(A) Xy, , X, HHEHT B) Xy =X,=-=X,
(Q) E%zls%%m'*‘ra (D) BEASE n JCRENIA &

5. A R R R o o e et e e e e e (D)

(A) HORFRE PR 1 K EAE B AEN7 H[R] 04 R REATL AR & RN AR 2 1
(B) AL FR 7 PR B R B BN HLIR) 70 A Y REATL 22 BRI M CL T IE A7 AR
(C) RECEHRH] T R EAH BARSZ H R oA RO REA LS B A E AR E 1
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1. BE A YRR Z 0.2 HAHEMSZ, FfERST 100 &5,
(1) AV RAE R E e £ 1F 10 £F 30 &2 EIFIHER.
(2) FAHOIRE G E £ 78 10 &2 30 & ZBBIRE=R.

8. E€=np=100-02=20,DE=npg=100-0.2-0.8=16. -ee-: 243
(1) PA0<E<30)=P(|E—E&E|<10)>1—2=1-% =084. ... 45y

(2) P(10< & <30)md (L) - (20) e 6 4%
=20,25)—1=2-0.9938—1=0.9876 cee-- 897

2. FIHBECTTTE, K IRB f = x242x,x,— 63, X3+ 2x2 — 12, x5 + 9x2 AL FRIEE
f = dlylz + d2y22 + d3y32 o

&, f=x242x%—6xx;4+2x2 — 12X, X3 +9x2

= X2 42x(X, —3%x3) + (X, —3x3) + X7 —6X, X3

=X+ X—3x P+ x2—6x05 e 3 4%
= (X 4 X, —3x3)* + X2 — 2, - 33 + (3x3)* —9x2
=(x1+x2—3x3)2+(x2—3x3)2—9x32 ...... Gﬁ\
/7\'\ yl - xl + xZ_SX3,y2 - x2—3x3,y3 = X3,
W f=y2+y2—9y? AW, 84y
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3. kit s A(1,2,—1), B(2,3,0), C(3,3,2) =/ AABC WIEFFIEA 1HHE ) H
JIFE.

M. HE% AB=(1,1,1),AC=(2,1,3), e 24y
i jk

M ABxAC=1 1 1|=@2-1,-1), e 443
213

Zfil¥ AABC WIEIRUN Spape = J[ABxAC|=1v6. 64

FsREH TN 2(x—2)—(y —3)—2z=0, Bl 2x—y—z—1=0 .-~ 877

4. EPIMFTAIR A= ;2 (1’ 1.

0123 01 2 3
1230 1 2 3 0
2301 0 -1 61

—6 —8 2
3012 |[0—6 —8 2
1 2 3
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=—|0 —4 4 [=— =—(—4-20—4-4)=96 e 84
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5. NIEZSEMR N(u,o?) FHIHEEARR RN 16 FIFEA, BEEEYECN 3160, Fn
HEZEN 100, WARIARIZ Hy: u=3140 BEHL (a=0.01).

fR. (1) FKRIE Hy:u= 3140 ...... 14>
(2) IEEGEIH R T = S/f ~tn-1. 343
(3) BEREE t,=t,(n—1)=t,,(15)=2.947. ... 557
(4) WHSIHE 1= T =303 =08, e 74y
(5) BT |t]< 1, #0452 Hy, BB, e 843

6. KRR f & (tanx + 12 dx,

2. )Elﬁzfezx seczxdx+2Je2x tanxdx e 257
=fe2x d(tanx)+2J e tanxdx . 49y
=e?* tanx—ZJezx tanxdx+2Je2x tanxdx 0 e 6 57
=e**tanx+C 843
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M. EBERR (3L 2 /N, B/ 8 4y, 316 47)

1. REMF AR B tHEMNZ, UERH A R B FHE N,

P(A-B)=P(A—B)=P(A—AB) e 9243
P(A)—P(AB)=P(A)—P(A)P(B) e 45y
P(A(1—P(B)=P(A)PB) 65>
FRLA A R0 B AHESRSZ. 843

2. EH {x,} R x,=+2, X, =+/2+x,. WERAEFIEL, HREKR.
ME. (1) Lk, BT <2, H xo<2 W

Xep1=V2+x.<V2+2=2,
HEAIANEFDN R n 80 x, <2, BIESIE EH. XdT

FRDABH RN, HARRRIZAEHEN 11, EolwmeElks. e 457
(2) EEBNRIRRBRT A, X2~ =N 30 [ I B PR A5 2

_V2TA
g A=2, BIEA {x,} "R N 2. 877

PR —LEnlRE A BRI ERE

©5(0.5)=0.6915  ®,(1)=0.8413 ®,(2)=0.9773 ,(2.5)=0.9938
fo.01(8)=3.355 fo1(9) = 3.250 fo01(15) = 2.947 t01(16)=2.921
2s®)=22.0  y25(9)=236  x2,,(15)=32.8  y2,,;(16)=343
X5995(8) = 1.34 Y205(9)=1.73 Y0ps(15)=4.60  y2,:(16)=5.14
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